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Run 5605 quartetwise, PosHelAccO/NSamplas0

=== Laser O -—
Entrie=: 8531
Mean: 150818 «/- 00027
St Dhey: 07217 -~ 00078

=== Lager OFF ---
Enirie=: JET753
Mean: 16926 «- 0.0010
Sid Dhey: 002014 4~ 00007

Run 5605 quartatwize, Diffs)

=== Laser O -—
Entries: 63531
Mean: 0.7375 «- 0.0017
Sid Dhey: 04542 4 00072

=== Laser OFF ---
Eniries: 3E753
Mean: -0.0013 «- 00012
Sid Drey: 0.2523 4~ 00009

Run 5605 quartetwise, Asyms(

=== Laser ON -—
Entries: 63531
Mean: 31,1962 «/- 00729
Sid Dev: 19.2122 +/- LOG1E

=== Laser OFF ---
Eniries: 36753
Mean: -0.0653 «- QL0542
Sid Dev: 106707 +/- L0303
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Run 5605 quartetwize, NegHalAcc/NSamplas0

=== Laser O -—-
Entrie=: 68531
Mean: 13,1443 /- 000026
Sid Dhew: 0UGEED &~ 00070

=== Lager OFF ---
Enlrie=: IETE3
Mean: 16939 «/- 0.0010
Sid Deyv: 002019 & 00007

Run 5605 quartetwize, Sumsl

14 18

=== Laser O -—-
Entries: 68531
Mean: 27.0260 &'~ 00051
Sid Dev: 1.3333 & 0006

== Laser OFF ---
Enlries: JETE3
Mean: 33064 +- 0.0016
Sid Dev: 03148 - 0.0071




Run 5605 quartetwise, PosHelAccd
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Run 5605 quartetwise, Diifsd
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Run 5605 quartetwise, Asymsd
apon — === Laser OM -—-
[— Eniries:; 63531
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Run 5605 quartetwise, NegHalAccd
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Run 5605 quartetwizse, Sumsd
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Run 5605 quartetwise, Asyms LIShg1

=== Laser O -—
Entrie=: 8531
Mean: -0.0012 «- 0001 E
St Dhey: 0LATED &~ 00073

=== Lager OFF ---
Enirie=: JET753
Mean: -0.0003 < 00024
Sid Dey: 0LA75% &~ 00007

Run 5605 quartetwize, Asyms DSbg1

_atlL[ A8 RlLAY A |

=== Laser O -—
Entries: 63531
Mean: -0.0007 «/- 0UO0DE
Sid Dhey: OU136T +~ 00004

=== Laser OFF ---
Eniries: 3E753
Mean: -0.000%6 «/- 0L000F
Sid Dey: 0U1365 -~ D.0005

Run 5605 quartetwise, Asyms Horiz Fingar

=== Laser ON -—
Entries: 63531
Mean: 00060 +- 0.0014
Sid Dhey: 03654+~ 00070

=== Laser OFF ---
Eniries: 36753
Mean: 00019 «- 0.0027
Sid Drey: 0.5250 +~ 00078
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Run 5605 quartetwize, Asyms USbg2

=== Laser O -—-
Entrie=: 68531
Mean: -0.0006 «- 00012
Sid Dev: 03216 & 00009

=== Lager OFF ---
Enlrie=: IETE3
Mean: -0.0030 «/- 0016
Sid Dev: 03203 - 00072
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Run 5605 quartetwize, Asyms DShg2

[ fhca '

=== Laser O -—-
Entries: 68531
Mean: -0.0004 «- 0000E
Sid Dev: 01233 - 00003

== Laser OFF ---
Enlries: JETE3
Mean: -0.0012 «/- 000)E
Sid Dev: 01225 &~ 0.0004

= LT
L)

Run 5605 quartetwise, Asyms Vert Finger

0.4 0.6

0.5

=== Laser O -—-
Entries: 68531
Mean: 00061 +- 0.0010
Sid Dev: 00600 &~ 00007

== Laser OFF ---
Enlries: JETE3
Mean: -0.002Z3 «- 0001 &
Sid Dev: 03485 - 00073
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Run 5605 quartetwize, posHE vs time Run 5605 guartetwize, negHO vs time
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Run 5605 gquartetwize, posH4 vs time Run 5605 guartetwize, negH4 vs time
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Run 5605 quartetwize, diffd ve time Run 5805 guartetwize, summd vs time
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Run 5605 quartetwise, posH4 vs time
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Run 5605 quartetwize, USbgl ve time Run 5605 gquartetwize, USbg2 ve time
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Run 5605 quartetwize, DSbg1 ve time
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Run 5805 quaretwise, variFing vs timea Run 5805 quanetwizse, horizFing vs tima
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